Subject: Antenatal care coverage (ANCC) - at least four visits
Posted by amira.elshal.1@city.ac.uk on Sat, 24 Aug 2013 12:24:18 GMT

View Forum Message <> Reply to Message

To calculate the antenatal care coverage (ANCC) - at least four visits, | multiply 100 by the
guotient of (the numbers of women who received antenatal care for their last birth according to
grouped number of visits (four visits)) divided by (the number of women with a birth in the last five
years). Is that correct?

So if a woman had 2 births during the last five years, the last birth will only count.
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